COLLECTIVE BARGAINING?

As we are all aware, the National Hockey League is currently in a collective bargaining process in an effort to solve the impasse that has lead to the owners locking out the players.
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Last Thursday the NHLPA called the owners to the bargaining table and put forth a proposal that would see player’s salaries ‘rolled back’ 24%.  

Using the Toronto Maple Leafs’ salary data (prior to the proposed ‘roll back’) provided to you, your task is to complete the following:

1. Calculate the following:

a.  the mean salary for the Toronto Maple Leafs.

b.  the median salary for the Toronto Maple Leafs. 
c.  the mode salary for the Toronto Maple Leafs                  
d.  the range of salary for the Toronto Maple Leafs.

2. Calculate each player’s new salary based upon the ‘roll back’.

3. Calculate the amount of savings for the owners of the Toronto Maple Leafs.

4. Create an argument for either side (owners or players) in this dispute as to why this proposal should be accepted or rejected.  

· You could choose to take the side of an individual player or the entire group of players.  You do not have to agree with the proposed ‘roll back’ simply because you are part of the NHLPA.

· You can choose to be the owners and either accept or reject the proposal.

Provide mathematical proof for your argument.
For the purpose of this activity, the owners are represented by the Toronto Maple Leafs and the players are represented by the National Hockey League Players’ Association (NHLPA).











